Knowledge Organiser: Year 7 Maths; Probability (Part 1) W o
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Outcome: the resutt of an experiment
Intersection: ekments (parts) that are common to both sets
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I Union: the combination of elements in two sets

: Expected Vale: the vale/ outcome that a predction would suggest you wil get
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Universal Set: the set that has al the elements
Systematic: ordenng vales or outcomes with a strateqy and sequence
Product: the answer when two or more values are multipled together
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Knowledge Organiser: Year 7 Maths; Probability (Part 2)

|~ Probabiity = number of times evert happens
N/ total number of possbe autcomes

PlBle) - 4 <—There are 4 ble sectory)

. 10 There are 10 sectors
notation =d
P (event) 5
Probabilty can be. a fraction, decimal o percentage
valve
4 -400 -040 -407
10 100

0 sample space for roling a six-sided
dees §={I,2 34506}

0 sampke space. for this spinner s
S = {Pirk, Blue, Yellow}

There are 2
pirk. and 2
yelow balk, so
they have the

* (0 Sampk space represeris a
possible. outcome. from an event
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The more kely an evertt the further up the probabilty it
will be. in comparison Lo another event
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So B intervals on this scake, each
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Probabilty s alaus a vale between O and |

The probabiity of getling a ble bal is é
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The table shows the probabity of selecting a type of chocolte
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Sample Space Diagrams Show All Possible Outcomes I
When there are two things happening (e.g. two spinners being spun), I
| you can use a table as a sample space diagram. |
|
m The fair spinners on the right are spun, . |
| and the outcomes listed. g ’f‘{ |
™
| a) Complete this sample space diagram > |
showing the possible outcomes. L ]
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| b) Find the probability of spinning a 2 and a green (2G). |
ways to spin 2 and green 1
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| c) Find the probability of spinning an odd number and a red. i1/ |
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How do we use Knowledge Organisers in Mathematics?

AL

©

How can you use knowledge organisers at home to help us?

* Retrieval Practice: Read over a section of the knowledge organiser, cover it up and then write down everything
you can remember. Repeat until you remember everything.

* Flash Cards: Using the Knowledge Organisers to help on one side of a piece of paper write a question, on the
other side write an answer. Ask someone to test you by asking a question and seeing if you know the answer.

* Mind Maps: Turn the information from the knowledge organiser into a mind map. Then reread the mind map
and on a piece of paper half the size try and recreate the key phrases of the mind map from memory.

» Sketch it: Draw an image to represent each fact; this can be done in isolation or as part of the mind map/flash
card.

e Teach it: Teach someone the information on your knowledge organiser, let them ask you questions and see if you
know the answers.

How will we use knowledge organisers in Mathematics?

Knowledoe organisers will be used before [ complete a Learniing Check or Comumon Assessment. [ will spend part of the
Lesson Looking over each of the key toples of the half term before completing the Learning Check or Common

AsSsessiment.
L will also use these at home to complete my own lndependent Learning and revision of these key topices.
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